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Example
(A) Because she is always late.
(B) Because the movie will start soon.
(C) Because the busy roads may delay them.

(D) Because the man will not wait any longer.

Listening 1
49. (A) 10:00. (B) 10:15. (C) 11:00. (D) 11:45.

Listening 2
50. (A) On Thursdays and Saturdays.
(B) On Fridays and Saturdays.
(C)  On Saturdays only.

(D) On Fridays only.

Listening 3
51. (A) 2GB. (B) 4GB. (C) 8GB. (D) 16GB.



Listening 4

o]

52. (A) By train. (B) By bus.

(C) By subway. (D) By taxi.

Listening 5
53. (A) Because it's too crowded.
(B) Because it's not open any more.
(C) Because it’s too noisy.

(D) Because they went there last weekend.

Listening 6

54. (A) Sweden. (B) Germany. (C) Italy. (D) France.

Listening 7
55. (A) The main event. (B) The fireworks.

(C) The dance performance. (D) The train display.

Listening 8
56. (A) In the bedroom. (B) In his coat.

(C) In his pants. (D) In the living room.
Listening 9
57. (A) The library. (B) The gas station.

(C) The dry cleaning shop. (D) The supermarket.

Listening 10
58. (A)  5:00. (B)  6:00. (C) T7:.00. (D) &00.



(B) Listening 11~12(59~63) Tix, #iEZE VT, FIR SN2 ERMICH T 58
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Listening 11

59.

60.

What is the biggest problem with selling things on-line?

(A)  People might receive the goods, but will not pay for them.

(B) People will pay lower prices than recycling shops.

(C) People can be very slow to pay the money.

(D) People may not buy the goods after they say they will.

What does the woman have to do in the second stage of registering
an account to sell on-line?

(A) Enter her personal details and password.

(B) Describe in detail the items she wants to sell.

(C) Write how much money she thinks will earn.

(D) Choose the kinds of items that she wants to sell.

Listening 12

61.

62.

What was the first thing that surprised the woman about the
Colorado River?

(A) It moved so slowly. (B) It was so dangerous.

(C) It was so narrow. (D) It was so peaceful.

When did the woman understand that they had faced serious danger?
(A)  When she wafched one of the canoes turn over.

(B) When she noticed that a guide was shaking.

(C)  When she realized how powerful the river was.

(D) When she had to travel in a motorized boat.



63. What was the worst thing for the woman at the end of the trip?

Saying goodbye to the new friends she had made.
Having to go back to the city of Las Vegas.
Seeing some men riding on jet skis.

Feeling a sense of loss because the trip had ended.
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Listening 13
You will hear a female student called May and a male student called Brian
talking about peanut butter. Look at the 4 sentences below. Decide if
each sentence is TRUE or FALSE. If it is TRUE, choose (A). If it is
FALSE, choose (B).

64. The American Medical Association says that peanut butter is healthy.
(A) TRUE. (B) FALSE.

65. Brian says that peanut butter is low in fat.
(A) TRUE. (B) FALSE.

66. Brian says that people will put on a lot of weight if they eat peanut
butter.
(A} TRUE. (B) FALSE.

67. May says that eating peanut butter could make people unhealthy.
(A) TRUE. (B) FALSE.



Listening 14
You will hear a man called David and a woman called Annie talking about
their plans for the day. Look at the 5 sentences below. Decide if each

sentence is TRUE or FALSE. If it is TRUE, choose (A). If it is FALSE,

choose (B).

68. Annie will take some potato salad for her lunch.
(A) TRUE. (B) FALSE.
69. Annie prefers an orange to an apple with her lunch.
(A) TRUE. (B) FALSE.
70. Annie needs the car to go to work today.
(A) TRUE. (B) FALSE.
71. Annie will give David a ride to his office.
(A) TRUE. (B) FALSE.
72. David will go to the library by bicycle.
(A) TRUE. (B) FALSE.

= F & B)



